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QUESTION 1

An object migration package is being validated. Which log file shows the details of the validation?
A. server.log

B. Cache.log

C. security.log

D. ObjectMigration.log

Correct Answer: D

QUESTION 2

How can end users be prevented from personalizing their portals?

A. Modify their Security Group; change Personalize Portal to No

B. Modify their Security Group; change Personalize Bookmarks to No

C. Modify their Security Group; change Ignorable For Nav. Overrides to No
D. Modify the Portal using the Portal Builder; change Lockdown Portal to Yes

Correct Answer: A

QUESTION 3

Which statement is true about source mapping?

A. Itis used only when mapping a smart section or locator field.

B. It is used only when the source object is the object of the start task.

C. Itis used only when the source and target objects are the same type.

D. Itis used only when there is a temporary association between the objects.

Correct Answer: A

QUESTION 4

A data load was done incorrectly resulting in a number of records not being set up correctly. There are too many to
modify by hand so a workflow gets written to fix the deficiency. What should the workflow be tied to and triggered from?

A. A Patch Helper
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B. A Workflow Helper
C. A Calculation Helper
D. A Notification Helper

Correct Answer: A

QUESTION 5

Which field type can be used as a Locator field?
A. Text

B. Date

C. Number

D. Classification

Correct Answer: A
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